Problem set 7
Chapter 45.

1. Fill in the boxes with the reagents required to produce the stereoisomer shown, or with the MAJOR
stereoisomer produced by the reaction conditions given. If an empty box contains a name instead of a
compound, give the structure of the compound. For all structures, indicate whether the structure is
achiral, a single enantiomer, or racemic.

a)
EtN,
0 Wol
HN)kO O
1) LDA,
-78°C
2) Mel
LiOBn
-
(2 products)
b)
1) EtgN,
P N VN NN
o B
0]
Ph)J\H




(@)

)

HOQC NH2 )J\
BHj cl

Cl

Y

o

@)
g)
OH
Me
0 | —
Phe(
0]
OH

pTsOH Me
excess H,0 o "'OH

~ ph CN
o)




OMe OMe l,30c

(@)
e
I
o8
Y
@]
ot
Y
(@]
4

2 eq. PhMgBr

BMeCl, TFA

A

-

CBSreagent ==




2. Give the product of the following reaction. Predict the stereochemistry at all new stereocenters, and
explain the origin of the observed stereoselectivity at each center.
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3. The following reaction sequence was used in the synthesis of Monensin. The steps highlighted in the
box are especially interesting. Give the structure of the product of each of these three steps, and explain
in detail why these steps were carried out.
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4. Give a definition and an example of chiral induction. Include the structures of starting materials and
products, and make the source of the induction clear using a 3D diagram.
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